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QUESTION 1

What are two reasons why it is effective to implement the internet service database (ISDB) in an SD-WAN rule?
(Choose two )

A. The ISDB is dynamically updated and reduces administrative overhead.

B. The ISDB applies rules to traffic from specific sources, based on application type.

C. The ISDB requires application control to maintain signatures and perform load-balancing.
D. The ISDB contains the IP addresses and port ranges of well-known destinations.

Correct Answer: AD

QUESTION 2

Refer to the exhibit.

1 mask
=a (1) =
destinatio
internet
hit count=0

2) vwl mbr seq=1 dscp Lag=0xf{f Ox[[ I lags=0x0
aport=0:65535 iif=0 dport= 1=-65535 oif=3(portl)

255

des i H - wd o =
1 .y 2 10=-16 07:49:14

Based on the output, which two statements are true? (Choose two )
A. The diagnostic output presents only of the policy routes

B. The all_rules rule is the implicit SD-WAN rule in place

C. There is more than one SD-WAN rule configured

D. At least one policy route is implemented and in effect

Correct Answer: AC

QUESTION 3

Refer to the exhibit.
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name VoIP_Shaper
maximum-bandwidth 6250 KB/sec
guaranteed-bandwidth 2500 KB/sec
current-bandwidth 93 KB/sec

2

priority 2

overhead 0

teos ff
packets dropped 0
bytes dropped 0

Which two conclusions for traffic that matches the traffic shaper are true? (Choose two.)
A. The traffic shaper drops packets if the bandwidth exceeds 6250 KBps.

B. The traffic shaper limits the bandwidth of each source IP to a maximum of 6250 KBps.
C. The traffic shaper drops packets if the bandwidth is less than 2500 KBps.

D. The measured bandwidth is less than 100 KBps.

Correct Answer: AD

QUESTION 4

Refer to exhibits.

Exhibit A.
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Exhibit B.
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Exhibit A shows the traffic shaping policy and exhibit B show: the firewall policy

FortiGate is not performing traffic shaping as expected basi on the policies shown in the exhibits.

To correct this traffic shaping issue on FortiGate, what configuration change must be made on which policy?

A. The shaper mode must be applied per-IP shaper on the traffic shaping policy
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B. The application control profile must be enabled on the firewall policy.
C. The web filter profile must be enabled on the firewall policy

D. The URL category must be specified on the traffic shaping policy
Correct Answer: C

SD-WAN_6.4_Study_Guide page 131

QUESTION 5

Refer to exhibits. Exhibit A.

Link Status
Check interval 500 s
Failures before inactive € 3

Restore link after © 2 checkl(s)

Actions when Inactive

Update staticroute @ @

Exhibit B.

la map

Ox0

Exhibit A, which shows the SD-WAN performance SLA and exhibit B shows the health of the participating SD-WAN
members. Based on the exhibits, which statement is correct?

A. The dead member interface stays unavailable until an administrator manually brings the interface back.
B. The SLA state of port2 has exceeded three consecutive unanswered requests from the SLA server.

C. Port2 needs to wait 500 milliseconds to change the status from alive to dead.

D. Check interval is the time to wait before a packet sent by a member interface considered as lost.

Correct Answer: B
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